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TCP &1 219 §?

(A) ZHERH HEr e

(B) SoHRHIfhe haldd WIeehic]
(C) IR sheld Ui

(D) iEfiRM de FHfeem W
TCP stands for :

(A) Transmission Control Protocol

(B) Telecommunication Control Protocol
(C) Temperature Control Protocol
(D)

D) Transmission and Communication

Protocol

RAM T T # 3TN & fau fed gRr &
SRTsed T TR T Sl § SR W e
% A YA rfed & fopa S € 2

(A) enmfen (B) ®feh

(G IRSIREIRED (D) T7H § g+t
Which type of variables are retained for use

throughout the program in RAM and not
reallocated during program execution ?

(A) Automatic (B) Static

(C) Dynamic (D) All of these

s feugd &3, S @ feued eea:m
3R TITeRR ST W foram & 2 2

(A) HEY fested

(B) HIFear / grear festmsA

(C) wiewM sy fesmea

(D) e fesmed

During embedded design, which design
considers both hardware and software ?

(A) Memory Design
(B) Software / hardware Design
©

(D)

Platform-based Design
Peripheral Design

TEeE C T H G WUrEE SrRfaed

FE?

(A) HUTEER S Iam foh IImE H HiSR fHeed
= el @l

(B) TIIH %I hUEA HE o fell HUEER i
e &

(C) fewra dfwaew

(D) fewrEa herw

What are the functions preprocessor
directive in Embedded C programming ?

(A) Tell compiler where to find symbols
that are not present in program

(B) Give compiler instructions to compile
the program

(C) Define variables

(D) Define functions

St g ST RS Sl IU SR Hrit-ad
T o AR WIS A R © | T8 HE Heaw
g

(A) HHI-Y&YA

(B)  SATcH-STNT&ehdll

(©) Fa@
(D) 3TeA-9H

Mr. Rahul is seeking feedback after
completing and implementing his project.
This act represents :

(A) Time-Management
(B) Self-Awareness
(C

(D

Gratitude

)
) Self-Love
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6. TS DS FAT HEAW & ? 9. HAEHIE 939 Y& & &l faw fafy &t wg=m

(A) w ®) i

©) feiwm (D) TreH (A) B9 Eihd O I e
What are Arduino Codes are referred to ? .

(A) sketches (B) drawings (B) ¥ S W1 e g

(Q) links (D) notes (©) = 7 T w A T @ w d

7. Trefeied 3 § S U5 A Th gol He § 2 (D) & & ¥ ST F FEA F

A) HU, KR AT ki B Identify the polite method of beginning a

) ) business letter.
B) ®RX % w1 H HH
(A) We are forced to refuse

(
(
(
(

C) wHI-fociel Y& el
D) A |t (B) We demand to know from you
Which of the following is the basic functions (C) We find it difficult to believe

of a timer ?
(D) We appreciate your prompt reply

(A) Control the compare, capture mode
B) Act as a counter

(
C) Provid ime del
E ; rovide a time detay 10. S % SR WY iR g w2

D) All of these
(A) oIeEEE
8. fr=fafead # & = fodt =1 ™ few MU ‘ ‘
HEI T SRR F Y Tl § 2 (B) et i
(A) TR (C) nfifer R
B) H-{gfeusH
®) (D) 39
(©) faft
How to research and enquire about the
(D) STERIESIYH company ?
Which of the following prevents someone ]
from denying the accessed resource ? (A) Website
(A)  Accounting (B) Company Directories

(B) Non-repudiation
(C) Sniffing
(D) Authorization (D) All of these

(C) Annual Report
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11. frafafed § § &9 @ TaSe W am &t 9w | 13, IoT Ul # ¥ifas i & 321 =R &6 &
g? fou f= ° 9 forgent swm foran <iman € 2
ey A) Hed
(A) TR e (4)
(B) T
(B) o Uftcrhyrg % fera Suam foman smem &
(C) HrEshl HraEd
C) wifd domeHl % @ 3uA foRar S § :
© (D) HTEshiehereTd
(D) Hfed egeratie o faw gy Which of the following is used to capture data
from the physical world in IoT devices ?
Which of the following is the property of (A) Sensors
embedded C language ?
(B) Actuators
(A) Hardware independent
(C) Microprocessors
(B)  Used for web applications (D) Microcontrollers
(C) Used with limited resources
(D) Used for native development 14. qR AT e A
B =fe ?
(A) CPU, ROM, I/O UIieH IR EHH
12. 39 [oT fehdser | TeitHed whi HeAl foha] (B) RAM, ROM, I/O Hred 3R 2rzad
ereft @ 2
(C) CPU, RAM, I/O Tred 3R erzwd
(A) =R (B) == (D) CPU, RAM, ROM /O Hied 3t 2z
(C) =% (D) 9@ Which of the following must be present in a
microcontroller ?
What is the number of elements in open [oT (A) CPU, ROM, I/O ports and timers
architecture ?
(B) RAM, ROM, I/O ports and timers
A) F B) Fi
(A)  Four (B)  Five (C©) CPU, RAM, I/O ports and timers
(C) Six (D) Seven (D) CPU,RAM, ROM, I/O ports and timers
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15.

16.

7fg 1 1 31ef ® T Tt aifesiae =T Wl o
T ® 3R 0 o1 31ef © fop ot atfsstere ot wan &1
el €, A HOR T R W g, a%g i gefaa
T 1 B TRt © IS HER R 3T82Ye T 111000
HET H @ €T E 2

(A) 3ffssre feer

(B) oo STTE-orTet foet T ©
(C) oot T @18

(D) ffeviae oI 37 Tl §

If 1 means an object is detected and 0 meaning
no object is detected, then considering the
sensor stationary, what can be the possible
movement of object if the output by the sensor
is observed as 111000 ?

Object is stationary

(B)  Object is oscillating side by side

(C) Object is moving away

Object is moving closer

I T AN BN Uees ey ¥ =9 9 9
YA fopan ST § 2

(A) EEPROM (B)

(C) RIw BT

DRAM

(D) SRAM

Which memory storage is widely used in
Embedded Systems ?

(A) EEPROM (B) DRAM

(C) Flash memory (D) SRAM

17.

18.

19.

IoT Aeaeh et 3§ 9gd & § a8
gl

(A) WAN

(B) LAN

(©) Fox

(D) WIS FETH e

The IoT networks that has a very short range
is :

(A) WAN

(B) LAN

(©) Fox

(D) Short-range Wireless Network

8051 H RAM HHI 1 3TeRR feha1 BT © ?

(A) 32 = (B) 64 sz

(C) 128 «z™ (D) 256 9zH
What is the size of RAM memory in 8051 ?
(A) 32 bytes (B) 64 bytes

(C) 128 bytes (D) 256 bytes

YA SEmE T 3R 9916 JeieM dehdieh S

fagm gfafsran 3o el ©

(A) SAISIR qehrleh
(B) WH-UH

(©) e

(D) T <l Hel

The stress management technique based on
mental exercises which to produces the
relaxation response :

(A)
B) Eating

Autogenic Technique

) Sleeping

(
(C
(D) Medicine intake
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20.

21.

22.

TR kT 323 ATl =1 wH=El &1

FH H UG HET ® |

(A) =
(B) ufw
(C) YHST
(D)  STeRTd HIAT

The purpose of communication is to help
officials to the employees.

(A) Eliminate

B) Motivate

Threaten

Apprise

g e i Uishan 91 © 5 ve & fasae =won

1 Sk 9§ Il Toram o & =1 7R ?
(A) 3Tecreh (B) 9w
(C) == (D) YR

What is the process to check whether
previous stages of reading have been followed

properly ?

(A) Survey (B) Question
(©) Reading (D) Review
IR HHR T 1 ST T ?

(A) 3TTEdl 1 a1 A <k g

(B) TH WEfHT

(C) Sifesige o1 9al &M & fag

(D) GPs

What is the use of the IR Sensor ?
(A) Humidity Detection

B) Image Processing

23.

24.

25.

SATRTY TR H TR TR T TR e Bl

772
(A) S (B)
(C) fafr (D)

ELIRC
A-faf=r

Most sensors have what type of transfer
function ?
(A) Zero (B) Infinity

(C) Linear (D) Non-linear

oM fefafad # 9 fog Tl @ SHE0 99
T Gohd & ?

(A) &g (B) foriw

(D) (A) ¥R (B) I

Functions can pass information in which of
the following ways ?

(A) Value (B) Reference

(C) Stack (D) Both (A) and (B)

HUTEeR 1 Uk o faIq AR & gY, 39
TSl HUTEER i WU Faell & 91 T
T HY o9 T Hhd & 2

(A) #warning (B)

#stop

(C) #cut (D) #error

How can you throw an error with
preprocessor directives to Arduino Compiler,
forcing to stop compilation ?

(
(C) Object Detection (A) #warning (B)  #stop
(D) GPs (C) #cut (D)  #error
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26.

27.

LDR ¥ % fgid W %M & 2|
(A)  gfareeRd

o~

(B) hISreh~efeaRferd]

(C) YdEsh™

(D) (A) 3R (C) &

LDR sensor works on the principle of :
(A) Resistivity

(B) Photoconductivity

(C©) Conductivity

(D) Both (A) and (C)

et gATaA T GEAT S AFar iR
TGl o AT B Y ST bl 9T hed © 2

(A) fEE
(B) SH-IHMH

(C)  SATH-FHTeRTAT

(D) ToSTehicdd To=

What is the feeling of competence to cope
with life’s challenges and of being worthy of
happiness called ?

(A) Arrogance

(B) Self-esteem

28.

29.

30.

SAfereRd® 9o I DC HieX Shi S&idl 91 § 2

(A) 90% (B) 100%

(C) <4 80% (D) 50%%9 %A

What is the efficiency of the DC motor at
maximum power ?
(A) 90% (B) 100%

(C) Around 80% (D) Less than 50%

HfEe & FaHR § R TR 9 @ifga o
5o & fou f=fafas & 9 w6 9 ST

oy & 9 39ArT forT ST ® § 2
(A) TIERIHEITR (B) zHH
(C) e (D) ered

Which of the following devices are
specifically being used for converting serial
to parallel and from parallel to serial
respectively ?

(A) microcontroller (B) timers

(C) counters (D) registers

T Rl TR HET BT =18T 2

How should the tone of a speaker be like ?

(C) Self-efficacy (A) Loud (B) Clear
(D) Wishful thinking (C) Low (D) Soft
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31.

frefafEd sie 1 eT8ege = I ?
#include <stdio.h>

void solve() {

char ch[5] = "abcde";

int ans = 0;

for(inti = 0; i< 5; i++) {

ans += (ch[i] - 'a');

}

printf("%d", ans);

}

int main() {

solve();

return 0;

}

(A) 5 (B) 20
(C) 40 (D) 10

What will be the output of the following
code ?

#include <stdio.h>
void solve() {

char ch[5] = "abcde";
int ans = 0;

for(int i = 0; i< 5; i++) {
ans += (ch[i] - 'a');

}

printf("%d", ans);

}

int main() {

32.

33.

foreferfaa & & 1 séaiet % fammg 3w

FH H ASE HT B ?

o~

fihfsTehel P fam

(A)

(B)  <hfHehel SHFfcT
(C) HehfTH

(D) FISE HFafT

Which of the following helps to collaborate
in IoT development ?

(A) physical computing
(B) chemical computing
(C) mechanism

(D) cloud computing

IoT STTHAN H T THUH &:
(a) f& (B) wal Hie™

(C) <IEt Hred (D) 3 |+t

solve(); The actuators used in IoT applications are :

return 0;

) (A) Relay (B) Servo Motors

(A) 5 (B) 20

(C) 40 (D) 10 (C) DC Motors (D) All of these
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34.

35.

FH G THWR FAfeT e Farpawe FH o
TR T & ?

(A) TG (B) RIITEER

(C) WrEhl sheleR (D)  heleR

Which processor helps in carrying out
floating point calculations ?

(A) microprocessor (B) coprocessor

(C) microcontroller (D) controller

FIU] & HHY T hl ATHUT o 3Rt hi Tha

Eal e S T
(A) TR g
(B) HeTE Fo

(C) =AMSH a0
(D) HARId Ferul

The process of assessment of the speaker’s
content while listening is called

(A) Critical listening
(B) Dialogic listening
(C) Comprehensive listening

(D) Systematic listening

36.

Frefafea TSl shie o1 TRumT =11 ¢ ?
void setup() {

Serial.begin(9600);

}

void setup() {

Serial.write(20);

(A) Send a signal to pin 20 on the Arduino
board

(B) Send a octal number of 20 through the
Serial pins

(C) Send a byte with value 20 through the
Serial pins

(D) Send a hexadecimal number of 20
through the Serial pins

What is the outcome of the following
Arduino code ?

void setup() {
Serial.begin(9600);
}

void setup() {

Serial.write(20);

(A) Send a signal to pin 20 on the Arduino
board

(B) Send a octal number of 20 through the
Serial pins

(C) Send a byte with value 20 through the
Serial pins

(D) Send a hexadecimal number of 20
through the Serial pins
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37.

38.

39.

TSI SAEENT fohd T R ST T § 2

(A) Java (B) HTML
(C) C/C++ (D) Python
What language is the Arduino IDE built on ?
(A) Java (B) HTML
(C) C/C++ (D) Python

IoT “eae ¥, faeiR 9 (THuHw=) ¢

(A) T

(B) FawiR et w

©) WX

(D) ®ERETA

In the IoT network, Secure Shell (SSH) is :
(A) Gateway

B) Secure network protocol

Router

Firewall

GaR & ygE it oo € 2
A) WY, A

B) H=W

C) SR HAR

D) 39 |t

What are the
communications ?

(
(
(
(

major categories of
(A) Speech, writing

(B) Printing

(C) Electronic communication
(

All of the above

)
D)

40.

41.

S TH Uh & Hedh W he ST T STIN
F E @ e H F o o g 3 Sl § 2

(A) Tamfe

(B) o=

(C) TR feemm

(D) < @ud

Which of the following challenge arises when

we use many devices on the same
network ?

(A) Signaling
(B) Security
(C) Power Detection

(D) Power Consumption

IS H IR AT T HT F1 STA § 2
(A) ST H ge-379 FW & fau

(B) I wIe | qfete i % fog

(C) TR ol 3ATIHE e & foIg

(D) 3ifes HEIT oM

What is the use of the Interrupt Service
Routine in an Arduino ?

(A) To boot up the Arduino
(B) To exit any code that is running
(C) To automate functions

(D) To make more memory
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42.

43.

44.

Toee | H Hodaed fewfurdl s 4 <wiian
ST g ?

(A) ## B) /**/
€ %% D) //

How are multiline comments denoted in
Embedded C ?

(A) ## B /¥

S %% D) //
A B gad Afyes afda g s °f 2
(A) Wi (B) gl

(G EREIRREE! (D) F=Te

Which one is the most discussed challenge in
[oT ?

(A) Standard (B) Security

(C) Regulation (D) Internet

e o1 ST AR W % qRomH
&I 4 % fere foman S €1

(A) Tlgm (B) wHtam

(C) =T (D) 3|

Reports are usually utilized to present the
outcome of :

(A) Experiment (B) Inquiry

(C) Investigation (D) All of these

45.

46.

47.

ML H, ZrEUTe o foT SS9/ TeHTersTie &

EECE| ! HEE ¥ U HET E
(A) FErd (B) I
(C) THM (D) T

In IoT, Transport layer set up connections
without handshakes/acknowledgements
using :

(A) UDP (B) TCP
(C) FTP (D) HTTP
HER o &1 &F 7
(A) HEY (B) E/3
(C) HRER (D) WHE
is heart of Computer system.
(A) Memory (B) I/0
(C) Counter (D) Processor
3TSEA! A1 W micros() TR w1 Reifege ==
€2
(A) 7 HEhEhE
(B) 4 HEhIEhE
(C) 6 HEhIEhE
(D) 2 HEhIEHE

What is the resolution of the micros() function
on the Arduino Nano ?

(A) 7 Microseconds
B) 4 Microseconds
) 6 Microseconds

(
(C
(D) 2 Microseconds
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48.

49.

Ty S a1 fafye Sushl | 3 R T
=raerd fsranetl § ufafda +0 o< ¥ 9

faSl o

(A) T 2ga wrfafess

(B) ST heloRH

(C) feamsd eRRM

(D) T A FHetH

These applications take data or input from
various devices and convert it into viable
actions or clear patterns for human analysis

(A) Real Time Analytics
(B) Data Collection
(C) Device Integration

(D) Real Time Collection

T &) gurEsiad Fefaiad °§ 9 faa fuHes
R TR et & 2

(B) Tfarghd
(C) Horeferdr (D) W |t

Sensor effectiveness depends on which of the
following parameters ?

(A) Radiation (B) Resistivity

(C) Sensitivity (D) All of the above

50.

51.

52.

53.

Frggdl e # fordd T 1 s 39
fefam S 8 2

(A) 12 (B) 16

< 8 (D) 14

How many analog pins are used in Arduino
Mega board ?

(A) 12 (B) 16

< 8 (D) 14

RAL H TE g fedry &1 amdfosh 33w
FNE?

(A) HISTEA ®IF (B) effels

(C) T TRt (D) ¥ Hi

What is the real example of a smart grid
device in [oT ?

(A) Mobile phone (B)
(C) Smart Speaker (D)

Television

Smart Meters

=1 5 9 o T S TR TR © 2

(A) sbit (B) dbit

(C) bit (D) unsigned int
Which of the following is NOT a data type ?
(A) sbit (B) dbit

(C) bit (D) wunsigned int
IoT &1 Y@ ek &/

(A) ¥

(B) T

(€ = e

(D) W a4t

Major Component of IoT is/are
(A) Sensors

(B) Actuators

(C) Smart Applications

(D) All of the Above
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54.

55.

56.

OXFE & ¥19 R o a2 SR Hee o1 .1 997
g2

(A) R &I T Hoidee fofe ¥

(B) R & Hclaes foe il foferaR e

(C) R Hoiaee foe o1 Hiftade &

(D) T ¥ &I &

What is the effect of performing AND
operation of R with OxFE ?

(A) Setting a selected bit of R

(B) Clearing a selected bit of R

(C) Complement selected bit of R

(D) None of these

Al s foftre wE wfew R
SEIED M ST & fau wferd &
Hehal T

(A) Fher, Hifed (B) ifew, Te
(C) ifed, Fher (D) HHI, "R

is meant for a specific group of
people while may be aimed for
the general public.

(A)

(C) notice, circular (D)

circular, notice (B) notice, memo

memo, circular

frrefafed § & oA T gurel Tgfd St Heit § 2
(A) S

(B) IEcH

(C) i w8 IR Y@ A

(D) T

Which of the following is the key to an
effective presentation ?

(A) Image

(B) Styles

(C©) Limited words and key phrases
(D) Layouts

57.

58.

AT TS T TE Frae ufshan = €2

(A) TIEEE> Tfeat-> HUBeR

(B) Tfeet-> WUHHE-> HUBR
(C) hUEA-> FUHHR-> TfeR
(D) Tfee-> HUEa-> IR

What is the correct execution process of an
Arduino code ?

(A) Preprocessor->Editor->Compiler
(B) Editor->Preprocessor->Compiler
(C) Compiler->Preprocessor->Editor
(D)

Editor->Compiler->Preprocessor

TRy, faeen o 9y o o faw iS5/ =wig
ST R Gl §, 39 el STl §

(A) 3w aHd

B) fetha

(C) Tifqua &A% e felters
(D) &= R

The scope that hacker can use to break into a
system is called as :

(A) Attack surface
(B) Defense
(C) Principle of least privilege

(D) Risk mitigation
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59.

60.

61.

3Tgel faed o e Wey W feddt ar
setup() TR FeTdT § ?

(A) 4 (B) 5

© 2 (D) 1

How many times does the setup() function
run on every startup of the Arduino
System ?

(A) 4 (B) 5

© 2 (D) 1

TTH 9 I I HIVIA I TEl TSl € 2

(A) ®=H

(B) ¥ gmaom

(C) TzafEa

(D) U

Which of these does not enhance listening
skills ?

(A) Attention

(B) Clear perception

(C) Frankness

(D) Ignoring

TISigeR 1 ST W g, H IW
ey 3 1 ITANT ek G W@l
1 Yehe foham ST Hehell |

(A) RS, TS

(B) TR, YRR

(C) TurEi, Tty =me

(D)  STUREefl, IRfRfen

While presenting wusing projectors,

information line can be revealed by using an
sheet to over the

>

) Transparent, slide
B) Translucent, transparency

C) Opaque, flip chart
)

o~ o~ o~ o~

o)

Opaque, transparency

62.

63.

64.

MQ-135 T TH YR &

() FHifed T

(B) T HW

(C) e HHL

(D) THOER HW
MQ-135 is a type of
(A) Humidity sensor
(B) Gas sensor

(C) Light sensor

(D)

D) Temperature sensor

SUHI o TSTaIeh Sl UEfET &t STAfd Ia1 |
(A) TS T
(B) FASS HFfeT
(C) i
(D) fire wegfen
allow data processing close to
device.
(A) Edge Computing
(B) Cloud Computing
(C) Fog Computing
(D)

D) Grid Computing

TRl &1 fafafy M 9e) WA & fau
frefaiea o 9 fma gfshan 1 S fwan Sman
g7

(A)  Sihdifened

(B) e

© s

(D) 3ThISTeT

Which of the following process is used to keep
track of user’s activity ?

(A) Authentication
(B) Authoring

(C) Authorization
(D)

Accounting

Page 14/14

SPACE FOR ROUGH WORK

M4-R5/01-23



65.

66.

WoT (3l 3ffts fove) =i e 290 ©
(A) AT AR i fohameiiara  gur
(B) e I Wl

(C) foekmd =1 Sifeet oM

(D) T kT Sl

The main objective of WoT (Web of Things)
is

(A) Improve usability and interoperability
(B) Reduce the security
(C) Complicate the development

(D) Increase the cost

Tege faeen ¥ oes Wit & foau fr=afafea o
q i b fafy SR 2

(A) TEH wEE

(B) RMS

(C) rfea Aeterah
(D) wii-urafed

Which of the following method is better for
task swapping in the embedded systems ?

(A) time slice
(B) RMS
(C) cooperative multitasking

(D) pre-emptive

67.

68.

IoT 3R FA18E Hfen # fh e o1 Helel § 2

INREISET

IoT and cloud computing has what kind of
relationship ?

(A) Physical
(B) Complementary

(C) Graphical

(D) Coding

TaeE C H FHT HI Y A1 ST & 2
(A) # (B) %

© © //

How are comments denoted in Embedded
C?

(A) # (B) %

© - D) //
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69. 3TST HMT? 71. T 3= Ueqashdl 3R TORE hl
KT =AMLY |
(A)  IrfHT e ‘
(A) fIaml &t 3= TIHAT I e
(B) TS fefé TR .
(B) HHI I 3fud YeiEH
C) H-Erg golaied ©iehH L
© (C) ikl sl famo
D) TR TfeR
®) (D) 39
: S
What is Arduino : A good presenter and communicator
(A) Programming language should :
(B) Image editing software (A) Follow good sequencing of ideas
B) Manage time properl
(C) Open-source electronics platform ®) & PIOPETy
(D) Text edit (C) Clear doubts
ext editor
(D) All of these
70. Sl HIX HYAT A KA F A oAy fmw | oy feferiiga o Q i @1 et o T e A2
P =81 rm e T & 2 STt 218 feifa e & foF Tk & e § fafm
(A) i = g feareq & o9 Tor HY wwla feman Sam & 2
(A) eTH HRH
(B) w1 =1 fagia }
(B) I EH Urdrenial
(C) wATHT w1 Tife w1 frm (©) e T
(D) TATHT =1 amHRE fm (D) et Hrempta
Which rule is used to decide the direction of Which of the following i's an established S?t
rotation of DC motor ? of rules that determines how data is
transmitted between different device in the
(A) Coulomb’s Law same network ?
(B) Lenzs L (A) Network connection
enz's Law
(B) TCP IP protocol
(C) Fleming’s Right-hand Rule
(C) Network protocol
(D) Fleming's Left-hand Rule (D) TCP protocol
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73.

IS sifesae HR Y I @ & df Fefared s

I 3MILYE &I ?

intop =7;

int isBarrier = HIGH;
void setup() {
pinMode(op, INPUT);
Serial.begin(9600);

}

void loop() {

isBarrier = digitalRead(op);
if (isBarrier == LOW) {
Serial.println("1+");

else {
Serial.print("clear+");

}
delay(100);

A) clear+clear+1+1
B) 1+1+clear+clear
C) clear+clear+clear+clear
D) 1+1+clear+1
Predict the output of the following code if the
object is moving away from the sensor :
int op =7;
int isBarrier = HIGH;
void setup() {
pinMode(op, INPUT);
Serial.begin(9600);
}
void loop() {
isBarrier = digitalRead(op);
if (isBarrier == LOW) {
Serial.println("1+");

}
else {
Serial.print("clear+");

}
delay(100);

NN S N -

>

) clear+clear+1+1
1+1+clear+clear
clear+clear+clear+clear
1+1+clear+1

B

o~~~
~

~— ~—

C
D

74.

75.

76.

fohd ehTL h1 SIokTT S3eh! okl 3@l H @1 § ?
(A) sTE= (B) THigw]
(C) srfere (D) TER

What type of speaker looks into the eyes of
the audience ?

(A) Confident (B) Impatient
(C) Rude (D) Impolite
frefafea et wre &1 =eye = g ?
void main() {

intk =0;

double d = 10.21;

printf(“%lu”, sizeof(k + d));

}

void loop() {}

(A) 10.21 (B) 8

(©) null (D) 23

What will be the output of the following
Arduino code ?

void main() {

intk =0;

double d = 10.21;
printf(“%lu”, sizeof(k + d));

}

void loop() {}

(A) 10.21 (B) 8
(©) null (D) 23

HC-05 T [ Afedd ¢ Sl ford die § §9R
T THA § 2

CNIREEEES (B) ST

© TSI (D) T HFE T
HC-05 is a Bluetooth module that can
communicate in which mode ?

(A) Simplex (B) Duplex

(C) Full-Duplex (D) None of these
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77.

78.

TaeE C_ R

(A) ERHA C H Th a8

(B) <ERMA C 1 Teh THISTMH
(C) e C i Th grRae

(D) <ENFA C % THF
Embedded C is :

(A) A subset of traditional C

(B) An extension of traditional C

(C) A superset of traditional C

(D) Same as traditional C

TTH 9 I STEHR R HL THhdl © 2

(A) Y ITHMA

(B) g Sfer

(©) et T g E

(D) el femmn

Which of these may convey arrogance ?
(A) Shoulder shrug

(B) Jointed fingertips

(€©) Hands swinging loosely

(D) Pointed finger

79.

80.

TEe{ U8 (Raspberry Pi) sl R €S Eas|
1 ST 8 2
(A) Fu@sl HIRE  (B) T Sl

(C) =R (D) 3TerR

How power supply is done to Raspberry Pi ?

(A) USB connection (B) Internal battery

(€) Charger (D) Adapter

TE 1 AN A THI T Heohd 9 Tgraal o
FS oS I B FI AlHAT HI Bl
Eicik

(A) ST
(B) fewert
(C) fomeefin
(D) ST § § HIE Tl

The process of removing certain band of
frequencies from a signal while permitting
other is called as

(A) Attenuation
(B) Distortion
(C) Filtering

(D) None of the above
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81.

82.

TS AR TSARH HT ITAN HTh,
& HEH ¥ SRR YT i S

STafeh SAfFa S aratardl &1 ITANT Hieh

% HIEAH Y SRR T i S
(A) =M, e
(B) 3T ©iq, foerh
(C) Toreren, weft frameft
(D) SR H & HE Tl

Using lecturers and handouts, information is
acquired via whereas by using
tutorials and conversations, information is
acquired through

(A) Students, tutors

(B) Other sources, tutors

(C) Tutors, fellow learners

(D) None of the above

IoT 9RfFaSH & fau SF 9t el Fss dea
TEHR?

EST aiegT

(A) AWS (B)

(C) WEHER TR (D) T gEd

Which one is not Leading Cloud Services for
IoT Deployments ?
(A) AWS (B) IBM Watson

(©) Microsoft Azure (D) Google Drive

83.

84.

THEY 2 TS Y2 hl AR HHAL cehdd |

TR foran st & 5@ HEl STl © |
A) fae (B) ¥FX
© W (D) Ffwd

A set of homogenous data stored in
consecutive memory locations is called :

(A) List (B) Structure

(©) Array (D) Union

analogWrite() TeRTH fohl JehR T T1EYE <M ?

(A) YoH HIe Higeies faa
(B) Tl Afeyeiee e

o

(C) UeH fogy Aleics faa

(D) YeH Tiege Higdeiee fara

What type of signal does the analogWrite()
function output ?

(A) Pulse Code Modulated Signal
(B) Frequency Modulated Signal
(C) Pulse Width Modulated Signal

(D) Pulse Amplitude Modulated Signal

Page 19/14

SPACE FOR ROUGH WORK

M4-R5/01-23



85.

86.

87.

8051 H forg fore wrest o1 o femam e & 2
(A) 4-fae (B) 8-fae
(C) 16-fere (D) 32-fere

What is the bit size used in 8051 ?

(A) 4-bit (B) 8-bit
(©) 16-bit (D) 32-bit
I | Uk heldd TR Tel § 2

(A) While (B) If.else
(C) #define (D) Case

Which one is not a control structure ?

(A) While (B) If.else

(C)  #define (D) Case

IS T TSl Thdl &l IS T o faQ =

4§ forgent 3uam foran Siar & 2

(A) avrgcc (B) gt+

(©) cpython (D) avrdude

Which of the following is used to upload the
Arduino Sketches to the board ?
(A) avrgcc (B) gt+

(©) cpython (D) avrdude

88.

o o

FfAfEd sl 1 T3 F1 BT 2

#include <stdio.h>

void solve() {

intb =4;

int res = b++ + ++b + ++b;
printf("%d", res);

}

int main() {

solve();

return 0;

}

(A) 12 (B) 15
) 17 (D) 20

What will be the output of the following
code ?

#include <stdio.h>

void solve() {

intb =4;

int res = b++ + ++b + ++b;
printf("%d", res);

}

int main() {

solve();
return 0;

}

(A) 12 (B) 15
(C) 17 (D) 20
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89. T&iT 2 TamER Ao foigat 1| 91. & faftre & @ &1 #6 & fag
ST ek T Tfetahyd & 9R § gREme BIEa?R 31 TRSH 1 Teh HAISH © |
Stleh Rl ET| S endl %| (A) IoT foeq
(A) TCP (B) HTTP (B) TS o
(C) Tue fowen
© P (D) FTP (D) S fawn
Spring Boot Actuator exposes operational _—_— is a combination Of hardware
information about running application using and software to perform a specific task.
endpoints. (A) IoT System
(A) TCP (B) HITP (B) Embedded System
(C) Grid System
(C) IP (D) FTP (D) Cloud System
92. T ¥ HM W I Ao Auearst T § ?
90. IoT feamd & fo st | 9 (A) NANO (B)  STRIDE
qfioms 2 gea ¥ (C) OCTAVE (D) PASTA
Which one of these is not threat modelling
(A) HEIR methodology ?
(A) NANO (B) STRIDE
(B) fearzw (C) OCTAVE (D) PASTA
(C) T3S 93. IoT Hea ST T Tk HUE B
: A) fama
(D) Tsre fawen )
(B) W § Hefiq
IoT devices can easily lead to catastrophe (C) TTFIRS
without
(D) e
(A) Software An IoT network is a collection of
devices.
(B) Devices (A) Signal
(©) Cloud (B) Machine to machine
(C) Interconnected
D) Management system D) Network
(D) 8 y (
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94. T 168 TH [ECAECRT 96. = fU MU e w1 W A1 T AR 3/ ASEA
Sl R ot fepem S € 2
(A) 32 (B) 64 #include<EEPROM.h>
int pin=13;
© 8 (D) 16 void setup() {
The Atmega 168 is an bit chip. ggﬁﬁ?ﬂg%ﬁ; PUT);
(A) 32 (B) 64
void loop() {
() 8 (D) 16 for(int i=0; i<EEPROM.length(); i++) {
EEPROM.write(i, 1);
}
U —— S n G
}
for(; ;) (A) Clear EEPROM
(B) Fill EEPROM with 1's
{ (C) Export EEPROM data
Statements (D) Fill EEPROM with 0's
What is the objective of the code given below
} if it is executed on the Arduino Uno ?
#include<EEPROM.h>
(A) T int pin=13;
void setup() {
(B) WeHH THI W I pinMode(pin,OUTPUT);
Serial.begin(9600);
(C) & T TTHERE 1§ .
void loop() {
(D) (B) ¥R (C) <M for(int i=0; i<EEPROM.length(); i++) {
EEPROM.write(i, 1);
What is the output of the following }
program ? digitalWrite(pin,HIGH) ;
exit(0);
for(; ;) }
(A) Clear EEPROM
{ (B) Fill EEPROM with 1's
Statements (C) Export EEPROM data
(D) Fill EEPROM with 0's
} 97. TIS% I T 1 3e¥ 1 3T HL § 2
(A) Error NERELER] (B) WY WM
(B) Statements will run forever () tl'clT ) (D) 3
What indicates to the reader the purpose of
(C) This an infinite loop a letter ?
(A) Subject (B) Body
(D) Both (B) and (C) (C) Address (D) Salutation
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98.

e Sffesiae HER 1 SR 9 W § q Frfaraa
hIS <hl 3TSLYL dTC ?

int op = 6;

int isBarrier = HIGH;

void setup() {

pinMode(op, INPUT);
Serial.begin(9600);

}

void loop() {

isBarrier = digitalRead(op);
if (isBarrier == LOW) {
Serial.println("1+");

}

else {

Serial.print("clear+");

}

delay(100);

}

A) clear+clear+1+1

B) 1+1+clear+l

C) 1+1+clear+clear

(D) clear+clear+clear+clear
Predict the output of the following code if the
object is moving towards the sensor.
int op = 6;

int isBarrier = HIGH;

void setup() {

pinMode(op, INPUT);
Serial.begin(9600);

}

void loop() {

isBarrier = digitalRead(op);
if (isBarrier == LOW) {
Serial.println("1+");

}

else {

Serial.print("clear+");

}

delay(100);

}

S~~~

>

) clear+clear+1+1
1+1+clear+1
1+1+clear+clear
clear+clear+clear+clear

B

o~~~ o~
~ —

C
D

99.

100.

SMESNS ITHON & IR H Fefafiad § 9 H @1
T &2

T Tehe i I T FH & U seme
1 ST HLT

(B) HIEshlehgle ! STTEdehdl Bl &
EIENGES Cl°h"|'\|°h <hT GINT hdl %

T4 T g

Which of the following is false about IoT
devices ?

(D)

Use internet for collecting and sharing
data

(B) Need microcontrollers
Use wireless technology

Are completely safe

ThaRIE 1 STANT S & HER E
(A) = & & Bl FHET H faaiea e

(B) WIS II: WA

(C) SIfeerd =1 FeieA

(D) TH § g+t

The advantages of using functions is

A) Partition larger task into smaller tasks
B) Code reusability

C) Manage complexity

D) All of these

-00o0-
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